%ﬁﬁﬂﬁﬁf@aﬁ%ﬁammmmm

BRI G

(1) ™ 9REg

(2) W TW

(3) U™ Y=ETR

4) foen ufag

(5) W TE 3 9
fom T & 29 =) wom vl afus §2
(1) <feo s
(2) T

@B) T

(4) TH

) S| 9wy

wmmamm%wma

maﬁaaw%maﬁmwm%,mmq
RISIERED MR E D

(1) s
(2) g
B) T

4) Tosien

(5) SWIETaEy

m%aﬁzozsﬁa@ﬁammqm&mﬂq
W@ﬁé%mﬁh%ﬁmmsﬂ?
(1) U=

(2) ufeam
(3) arenzy -
(4) g

(5) WA e 9wEs

WW%maﬁﬁmmmm%mm
ez feenfadeli &1 srqamgy 2
(1) 1990

b

Which of the following is not part of the

Panchayati Raj system in India ?
(1)  Gram Parishad

(2) Gram Sabha

(3) Gram Panchayat

(4)  Zila Parishad

(5)  Not attempted

Which continent has the highest number of
countries ?

(1)  South America

(2) Asia
(3)  Europe
(4) Africa

(5) Not attempted

Khabar Lahriya, a newspaper run by eight
Dalit Women in Chitrakoot district,
Uttar Pradesh, comes out in which local

language ?
(1) Awadhi
(2) Bundeli
B) Tulu
(4)  Pishoni

(5) Not attempted

Whom did Indi

One Day Crick,
2023 °?

(1)  Nepal

(2)  Pakistan

(3)  Bangladesh
(4)  Sri Lanka

(5)  Not attempted

a beat in the Finals of Asia Cup
et Tournament held in the year

In which year did the Uniteq Nat

el lons adopt
the UN Guidelines for Consumer

Protection ?

(1)1 1990
(2) 1986 (2) 1986
(3) 1987 @) 1087
(4) 1985 (4) 1985
o). ST & e  (5)  Not attempted
HANTV/H2
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S

) %ﬁm

B) S
@ aﬁm:, 3
Sy T Sty 3 w4

O T
Wangﬁa;m . X

1) ey ERliait
@ g

Q) g

@) = fewoht

O S ey
W%Wmﬁﬁmm%
TEHR 1927ﬁ@mqaﬁqmm’ﬁm$
(1) <€ gemq

(2 STEe=mR

B) = FREa

@ < ew

(5) W7 =R

ST TR Sera i fafmtor 3 memi § s i
wftafda foran <t & & & frw w9 F e R
(1) ieifeas

he following statements about

Consider t Governments. Which statement

Democratic
is not correct ?

(1) Democracy guar

franchise

In democracy people have power to elect
n

their leaders

antees universal adult

@)

(3) Democracy is also known as Oligarchy

4) Democracy is also known as
( representative democracy

(5) Not attempted

Where is the National Gallery of Modern Art
located ?

(1) Kolkata
(2) Mumbai
(3) Nagpur

(4) New Delhi
(5) Not attempted

To decide India’s Political future, the British
Government in England sent a commission
in 1927, which was headed by :

(1)  Lord Simon

(2)  General Dyer
(3) Robert Clive
(4} Lord Hastings
(5)  Not attempteq

(1) Industria1 sector

@l AN (2)  Primary sector
(3) feditaw & (3)  Secondary sector
(4) g & (4 Tertiary sector
(5) SR TE 3 aTed (5)  Not attempteq
HANTV /H2 TG @1t 3 10 Fme / SPACE FOR ROUGH WORK
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10. Teli ‘T’ ==z == 27 10. Why Earth is calied the Slue plan<et’?

“e

i,
th

= I Q1 %3 =
(1) 32".‘.‘—:'373":3791-;.’-37735;;;%—5 (1] Becausemore than 91%eithe Earth g

. 3 Aot perT
N covered with water
U= %I o _ .
= 5 & 2) Beczuse 1t s biue mycoiour.
2) FEz==m==2) AR _ :
=5 wer L s e - B) BecznsemaedEn 7i% oithceEarth iy
(3, s sl 1= T1G=== = F=ax: =u = - .: -::x AS;
"v";)-l—-:. z 1

=) Beczuss it has K=

4 FEEEai 5 ot apie

(5 ===FHz===

.. 11. The foest cock=t bets are made from whixch
o fmmqmﬁﬁ?ﬁa-§7 wood ?
(1) f=n-3% (1) Willow mee
2 =z-733 @) Pakm tree
@) FZ-3m (3) Pine tee
3) FZ-3%3 %) Banvan tree
(5) =W z= =2 S} Not attempted

12. vﬁvﬁixtﬁmm:.inmﬁfmaiﬁm;; 12. Inwhich vear did Gandhiji armive in India from

q? South Afrca ?
(1) 1921 (1) 1921

b Bl @3 1915

4

(4) 1917 P

(5 "SR S) Notattempted

13, ww w2u #F faw fad § agon w5 & = =

9 13. In ifh)ch distnict of Madhya Pradesh, are
Khajuraho Group of Monuments located 2
(1) “Eag (1)  Jabalpur
(2) TaEfam 2) Gwabor
3 ¥ (3) Indore
(3) TERR t3) Chhatarpur
(5) W € T 9l S) Notattempted
14. TR 97 VUEEE FE fod §2 14. Where is Salar Jung Museurm located 2
) Ene] (1) Goa
@) FtC 1] B) Hyderabed"
@ T k. s
(5) SWAAA I ®)  Notattempted
HANTV/H2 TE B/ S fTe T 1 SPACE FOR ROUGH WORK
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[&

it

é

k‘.

o

15.

gAfea A ;

et -1 et - 11
() m T
(B) W& () wfew
c = (1) Td B it wER won
(D) (V) STeR o W et e
= feu e foedt § @ Tt S w1 w97 i

(1) (A)-(D), (B)-(IV), (C)-(11), (D)-(111)
(2)  (A)-(IV), (B)-(11), (C)-(11), (D)-(I)

15.

Correctly match the following :

List - I List - II
(A) Ryot ()  Village
(B) Mahal (I1)  Peasant
(C) Nij (1) Cultivation on Ryot’s
lands
(D) Ryoti (IV) Cultivation on

planter’s own land
Choose the correct answer from options

below :
(1) (A)-(D), (B)-(IV), (C)-(IT), (D)-(I1T)

@)y (A)-(1), (B)-(I), (C)-(IV), (D)-(I11)
4 . (A)-(m), (B)-(T), (C)-(1v), (D)-() 2)  (A)-(1V), (B)-(I1D), (C)-(11), (D)-(1)
(5) I < @ (A-), (B)-(), (C)-V), (D)-I])
I @) (A)-(m, (B)-(1), (C)-(IV), (D)-(T)
16. R i HH & FROT A Q) (5) Not attempted
(1) fe=f@D :
(2) fofma 16. Night blinfdness is caused due to the
S deficiency of :
(3 N (1) Vitamin D
(4) fafmc (2) Vitamin A
(5) SR G o1 9@med (3) Vitamin B
(4) Vitamin C
17, frafetad H ¥ HF-T1 I FH TIE ITH TH © ? (5) Not attempted
1) gHifEd :
( 17. Which is the best conductor of heat from the
(2) following ?
(3) TuEH (1) Aluminium
(4) =& () Wood '
(5) S A AR (3) Kerosene -
(4) Silver
18. 3 yofadl <1 T foow &% H € UE Wi § 3¢ (5) Notattempted
— T 18. Species found only in a particular area are
(1) wnf® known as :
(2) v (1) Endemic
3) foga (2) Rare
4) HHeH (3) Extinct
(5) W I8 21 =red (4) Endangered
(5) Notattempted
19. iqqiam@fm YT 1 H : 19. Select the non-metal from the following :
(1) (1)  Sodium
(2) HeWl (2) Sulphur
(3) dmn (3)  Copper
(4) ol (4) Iron
(5) W T8 &1 =red (5) Not attempted
Page 5
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20. IR ST faE R AR T aa W E

21.

22.

23.

20. The substances which turn red litm

D

us 1%
blue are in nature.

LA ] (1)  Acidic or Basic
(1) i = e (2)  Acidic
(2) =i (3) Basic
(3) &wHE (4) Neutral
(4) TEHA : (5) Notattempted
(5) S TE o=
21. The normal temperature of human body is -
I & IR W A9 B (1)  98°C
(1) 98°C (2) 35°C
(2 35°C (3) 37°C
(3 37°C @) 98.4°C
@) 98.4cC (5)  Not attempted
(5) S Ay
22. Match the items given in Column - I with
m—lﬁﬁqmnﬁaﬁw-n,ﬁﬁqmqa‘f those in Column - II ;
* |y ﬁﬁﬁ"ﬁf & I- (Digestive Organ) II - (Process)
I - (urer 34 ) II - (ufemar) (A)  Small Intestine ()  Chewing of food
(A) B () i == (B) Large Intestine () Churningoffood
(B) = 3ia (1) i faeires (C) Stomach (I} Absorption of
(C) X (I1) IS =1 3rEviTgo food
(D) Hs (IV) WA s T (D) - Mouth (IV) Formation of
'ﬂﬁ f*am gﬁm ; faeces
(1) (A)-(u), (B)-QV), (C)-q1), (D)-(1)* Choose the correct options below :
() (A)-QV), (B)-(II), (C)-(1), (D)-(11)- (1) (A)-(), (B)-(v), (C)-(11), (D)-(1)
(3 (A)-av), (B)-(1), (C)-(111), (D)-(11) (2 (A)-(v), (B)-(11), (C)-(1), (D)-(11)
(4) (A)-(1m), (B)-(1V), (C)-(1), (D)-() B (A)-(v), (B)-(1), (C)-(m1), (D)-(11)
(5) S| & T 9’ (4 (A)-m), B)-(1v), (C)-(), (D)-(m)
(5) Not attempted
R T 100 km F 30 5 5 F T @ E A
TR THRR Uil 23. If a body covers 100 km in 5 hours its speed
(1) 500 fiFrf, vz vitll e
@ 20 tﬁl'(/tfa (1) 500 km/hour
@) 20 aﬁ‘ﬂ?{/ﬁa (2) 20 metc.r/ hour
(3) 20 centimeter/hour
4 20fg /e
- i i N\ () 20 km/hour
M (5) . Notattempted

¥ Bt 5 1T w2t / SPACE FOR ROUGH WORK
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24. frefafEa § ¥ F19 91 78 o« T & faaa B ?

(1) ¥
(2) g=t
@) ¥
4
(5) SWTE < AR

25. FHIRI AN &1 qaQ 39 TEF DA ?
(1)
(2) RE R,
(3) HeaEEt
(4) SY-T&T
(5) ST =R

26. e - 13 fau U Ft e - 11, # g T A
%W@mm:

I I

(A) TEEES () fomrg
B TREREA 1)
(C) T (I11) e
D) TR e (Iv) e

% fou o fawed § ¥ W@ IW H T5T T :
(1) (A)-(0), (B)-(I), (C)-(1), (D)-(IV)

2 (A)-1), (B)-(), (O)-(), (D)-IV) -

3) (A)-(), (B)-(1), (C)-(V), (D)-(I)

4) (A)-, (B)-(1), (C)-1V), (D)-(1)

(5) I AL & =R

27. faeraea arg Aee & e % A § e

o< e I 2 |

1y W

(2) TEES
(3) vaTEedt
(4) fecet

(5) I TE & A

24. The planet W

25.

26.

27.

hich appears reddish in colour
is :

(1) Mars

(2) Earth

(3) Mercury

(4) Venus

(5) Not attempted

Which is the most common carrier of
able diseases ?

communic

(1) Ant

(2) Housefly
(3)  Fruitfly

(4) Dragonfly
(5) Not attempted

Match the items in Column - I with those in
Column -1I:

I I
(A) Typhoid (I). Virus
(B) Hepatitis A (I) Fungi
(C) Malaria (III) Bacteria

(D) Wheat rust (IV) Protozoa

Choose the correct answer from options
below :

(1) (A)-O), (B)-(I), (C)-(I), (D)-(IV)
(2)  (A)-), (B)-(0), (C)-(11), (D)-(IV)
3)  (A)-(m), (B)-(1), (C)-(IV), (D)-(11)

(@) (A)-(), (B)-1D), (C)-(1V), (D)-(1)

(5) Not attempted

Cockroach breathe through network of air
tubes called

(1) Stomata

(2) Gill

(3) Trachea

(4) Diaphragm

(5) Not attempted

HANTV/H2

% B & feT0 721151 / SPACE FOR ROUGH WORK
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28.

30.

31.

Preifafaa 3 4 =i @ sream & et a1 7@ €7

(1) @

2) R

@) wfan

) ¥

(5) S 9w

Frfafad ¥ @ 95 @ % o Tam T germar &
g2

(1) o ke
2 ferrafam

B) W & HivrETd
(@) RRE

(5) S| I ==

™ - 1H 3T Tu e ) ahterm - 11 3 feu o i &
Yy gafea Hifs)

I I

A) TR ()  heller e
B) TESHfaaw (I)  OsHe dyer
(C) T Ead (1) 9w

(D) fy=xdien (IV) ieved diur
vﬁﬁmgﬁq:

(1)
()
Q)

(A)-(11), (B)-(I1N), (C)-(1), (D)-(IV)
(A)-(11D), (B)-(1), (C)-(11), (D)-(IV)-
(A)-(110), (B)-(I1), (C)-(1), (D)-(IV)
(4)  (A)-(), (B)-(1T), (C)-(IV), (D)-(T)
(5) S < =

[ET 24 m 9fm it 3R Te F 918 3791 T qea
24 m Io § $WE 9% 9% 99 9 gedt # ok
16 m Wt €1 YH: 9% 319 91d Heo 24 m =it
€1 w37 3T SIRfies fiig A feat g aon frg
femd &2

(1) 40 m, qfy=m
(20 32m,3W

(3) 48 m,uf¥=y -
(4) 40m,3IW

(5) W TE =

28. Which of the following is not a deficiep,,

29.

30.

31.

disease ?

(1)  Scurvy

(2) Anaemia

(3) Malaria

(4) Goitre

(50 Not attempted

Which of the following helps in clotting ¢
blood ?
(1)  White Blood Cells

(2) Haemoglobin

(3) Red Blood Corpuscles
(4) Platelets

(5) Not attempted

Match the items given in Column - I with
those in Column - II.

I I
(A)  Chloroplast () Leguminous
plant
(B) Rhizobium (I) . Parasitic plant
(C) Cuscuta (IlI) Leaf
(D) - Pitcher plant (IV) Insectivorous
plant

Choose the correct options below :
(1) (A)»-a, (B)-11), (C)-(1), (D)-(IV)
(2)  (A)-(m), (B)-(1), (C)-(11), (D)-(IV)
(3)  (A)-(1n), (B)-(11), (C)-(1), (D)-(IV)
4)  (A)-(), (B)-(11), (C)-(IV), (D)-(I)
(5)  Not attempted

Sarita walks 24 m towards West, then turns
to her right and walks 24 m and then turns to
her left and walks 16 m. Again she turns to
her left and walks 24 m. How far and in which
direction is Sarita from her starting point ?

(1) 40 m, West
(2) 32 m, North
(3) 48 m, West
(4) 40 m, North
(S) Not attempted

— ‘i HANTV/H2
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32.

33.

34.

afe T fAfvsa fewmm ¥ ‘MUSSOORIE’ =)
‘OTURQNTHG’ fa@n s 8, @ 34 grewmy
DELHI’ 1 31 foran smam ? ! ?

(1) FCNGJ
2) FDMGK
(3) FDNGK
(4) FCNFK

(5) ST I 9w

faeq 1 997 DT
() @@
) FAR
3)
(4) T
5) IR TG S =R

gefEP, Q, R, S, T 3 U SWH 3R e :th T
4 B G ¥, Atk aTavEe T8 ® T S s E A
P, TFal AR R F AW Q, T ¥ T AfeA
gFaitaRe, UFHFAE AT Q" F IS
FAE? '

(1) P3RR

2) T3RU

3) P3RT

@) T3IRS"®

(5) SR T = Rd

AE JEndq@ug __ 2 W I g

125,255 2 , L L, —
—— 5’ 25" 125

(1) -2

@ 2

@ -1

4 1.

(5) ST & =wd

32.

33.

34.

35.

OORIE’ 1S

UuSS ]
If in a certain code 1language ‘l\fhen " ill
written as ‘OTUR.QNTHG ’de )
‘DELHI’ be written 11 that co
(1) FCNGJ
(2) FDMGK
(3) FDNGK
(4) FCNFK
(5) Not attempted

Find the odd one out.
(1)
(2)
(3)
4
©)

Parrot

Pigeon

Kiwi

Sparrow

Not attempted

Six friends P, Q, R, S, T and U are standing in
a row facing North but not necessarily in the
same order. ‘P’ is to the left of ‘T’ and to the
right of ‘R’. ‘Q’is on the right of ‘T’ but to the
left of ‘S’ who is to the left of U’. Who are the
neighbours of ‘Q’?

(1) PandR
(20 TandU
3) PandT
4 TandS
(5) Not attempted

Find the missing term __? in the series.

125, 25,5, 2 , 4 L, L
—— 5 25 125

m -2

2 2

B -1

@ 1

(5) Not attempted

HANTV/H2

< @1 o fere warel / SPACE FOR ROUGH WORK
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36. 9 @ ¢ et 7 g il 0 e I AN

37.

38.

A*BH g ‘B AamIE R
ASBH ¢ ‘A BHI T &'
A#BHFIaE ‘B AT

TRPS QR4S 8, DA e T W
| R?

(1) s, Q#: vt 2 .

2 s, PEgd

B R PFTRE

4 R Q¥FfmrE

) S 7 9wy
@Qﬁmmwﬁsﬁaﬁﬁmémmm
%ﬁﬁmwmwém%\
W:W::@:_L.

(1) <Ewrs

@ wm

B

(4 =

(5) W M=y
ﬁmm%v@ﬁmﬁmmﬁﬁmw
gl #@rﬁ%m#ﬁmmwﬁmm
mﬁm‘rmﬁzmquwaﬁrﬁmaﬁ'l

LNSAIG
123456

37.

38.

36. Read the following information to answer the

question below :

A * B means ‘B is the brother of A’.
A $ B means ‘A is the wife of B’.

A # B means ‘B is the son of A’.

If'P$ Q*R # S’ then, which of the following
statements is true ?

(1)  Sis the nephew of Q

(2) Sis the son of P

(3) Ris the father-in-law of P
(4)  Ris the father of Q

(5)  Not attempted

Choose the option which is related to the third
term in the same way as the second term is
related to the first.

Mosquito : Malaria : : Rat: 2

(1)  Typhoid

2) Plague

3) Dengue

(4) Rabies

(5) Not attempted

A set of English letters is gj i

: glven below in g
Jumbled order, Select the Combination of
numbfars SO0 that the letters arranged
accordingly form g meaningful worg.

L N s ] I G
1 2 3 4 5 6

1) 2,63, 1,4,5 (1) 2,6, 3,1,4,5
@ 54,2163 (2 5,4,2,1,6,3
@) 3,586,247 , @) 3,5,6,24,1
4 3,5,4,26, ] 4 3,54,2/6 1
O W (5)  Notattem
HANTV/H2 i

Siany 5:'3'»«1

N

Vo L

Y% BT & 1810 Temer ) SPAGE FOR ROUGH WORK
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39-

41.

—
HANTV / H2

m@mmﬁ I | 39. Two statements are iven, f
feg ™ TU E S HHFT @ A conclusions (I) andg(u)' (Xlowed o
) . N . ss 1
a fﬂﬂ‘ﬁ i A 9?1'.'“ 2 7, fola i fF fF /3y statements to be true even if theyusr:;;gt(:léz
MMWM#WWWMNQW at variance from the commonly known facts
| decide which of the conclusions logi y
%/Wﬁ% : follow(s) from the given statements. ogically
&g '?3'@37% roferl € | Statements : some dogs are fishes.
$9 wofaal veft €1 gome fishes are birds.
pepd: (@ F9 F Ut T Conclusions { () Some dogs are birds.
(I TS waft 3;-‘} %I (1) Some birds are dogs.
M :ﬁﬁﬁﬁﬁf (1) 3R A @ (1) Fraera 2 (1) Ncithcr conclusion (I) nor (I) follows
2 5 freed (1) F 21 (2) Only conclusion (1) follows
(3) Only conclusion (11) follows
@ T frepd (1) Frehera B _
v . 4) Both conclusions (I) and (IT) follow
forend (T II | feherd ©
@ @ (mn g (5) Not attempted
6) SR & WA
40. Priyanka’s birthday falls on the third Friday
e 1 sfe ferat R F I CRAR of a month. The fourth day of that month is
& e e fa - aﬁ.%l the first Monday of the month. What is the
mﬁﬂ‘ﬁ? fei s =H1 e | CHSIRERE] date of Priyanka’s birthday ?
T Eal 2 N
¢ (1) 15t
1) 15
@ @) 231
@2 23
@) 21
B 21
@) 22nd
@4 22
5 Not att ted
) TR TS & = © e
) 41. For which sum, the simple interest at the rate
et 32.% i QA 2 T B 3, 1
2 3 of3z/operannumwi]1be?210in 2— years?
L2108 ? 3
(1) %2,500 (1) T2,500
() 1,580 (2) 1,580
(3) 2,400 - 3) ¥2,400
4 2,800 (4 2,800
(5) I9TEl &1 =9ed N (5) Not attempted
/
zqsszasﬁwwﬁf/ SPACE FOR ROUGH WORK Page 11




a Stuwuina: an wpre

20 metres in
N5 | 43, Acar 89S
42. @wlmﬁgorﬁam%l e/ in lam/ 1 i
TEHI A T (1) 2
2 18
(1) 20 @ 72
(2) 18 (@) 36
@B 72- (5) Not attempted
4) 36 .
(S) IR e & A 43. A certain number is divided 1r‘1todzi“'?i part
43. TEHEHENH WﬁﬁwmﬁqﬁﬁﬁmWﬁ such that 5 times the first part adde to |
o F11 T SiTed W times the second part makes 7 times th
'q.?é Y& 5 ﬁ:ﬂaﬁi{ﬂ q;:g;m bl qq:( q.m kY number. The ratio of the first part to th
we &1 7 T 9 g ] ) second part is :
I € : ' 1) 2:3
(1) 2:3 (2) 2: 15
2 2:1 3) 5:11
(3) 5:11 (4) 1:2
@4 1:2 (5) Not attempted
(5 IR AL S A 5.5 :4.0:04
g . . 0.2 x0.2+ 0. {
) 0.2 x 0.2 + 0.01 2 T S S 44. Simplification of 5 f ~0.1+.00) gives :
- BIx01+002 T od ' : :
9 =
1 3 5
5 5
@ 3 2 3
41
@ 15 41
12 B 13
41
W ) N
), S (5) N4t tt 1
. ot attempted
45. fa ol §, 2 800 1 UM 10% afiw wTwgfE =
F WA, 2926.10 R Wi e A wfq Tam 45. In how many years will a sum of T 800 at 10%
gafSa aar e ? per annum compound interest, compounded
| semi-annually become T 926.10 ?
1) 2- =4 1
B 2 (1) 2 years
1
2) 1o ad 1
i 3 (2) 13 years
1
@ lz@d - 1
2 3) 15 years
1
4 2= 1
= (4) 23 years
(5) I TE =
(5) Notattempted
HANTV/H2 6 Bt & form
X111/ SPACE FOR ROUGH WORK Page 12



mﬁmﬁfa{é?ﬁﬂﬁ@?ﬂim

%x10mX5
€ L0 R TR T
(1) 5Y3m
(2) 15¥3m
(3) 15m
@ 1042 m
mqﬁ'&’mﬁ%ﬁ

(5)
o0 et 1 T T % s & g AW W A

e 7 3 - 13 ggfqmﬁﬁﬁmquaﬁ‘(mmm

o 77 I 4 - 1 R sme?

1) 6T

2) 7

@) 4T

@ s®E=’

(5) = T8 &
48. (0.5x0.5+0.5-:—5)W%:

(1) 0.45

2) 0.15

3) 0.25

(@) 0.35+

5) <R T8 < =R
49, T 29U b RIS £ < fe 8§ HE-T
%7
(1) a—-0=az0-a
(2) a+b=b+a
(3) a—b=b-a -
4) a+0=0+a=a
(5) T < =ed
50, “HFENS 2p,5pdM7 pH LCM. R :

(1) 70p3
2 70p°
(3) 65p
4) 75p

(5) TR <1 =R

1 ﬁmjmaﬂm?Q@ME%%%W%
Teedl e 1 gH Hen # $uE §

(1) 13:10 «

(2) 10:13

(3) 8:13

4 13:8
) IW A <1 AR
HANTV/H2

TG P W 110 21 SPACE FOR ROUGH WORK

47,

48.

49.

50.

51.

The length of the longest rod that cap
in a room of dimensions 10 mXx 10

(1) 53 m

(2) 153 m

(3) 15m

(4) 10J2 m

(5) Not attempted

20 litres of a mixture contains milk

in the ratio 3: 1. The amount of ;?ﬁ(“{st}e);
added to the mixture so as to make the ratio
4:1,i8:

1y 6 litres

(2) 7 litres

(3) 4 litres

(4) 5 litres

(5) Not attempted

(0.5% 0.5+0.5+5)is equal to :

(1) 0.45
(2) 0.15
(3) 0.25
4) 0.35

(5) Not attempted

If a and b are two distinct integers, then which
of the following is incorrect ?

(1) a—0=a# 0—-a

(2) atb= b+a

(3) a—-b=b-a

(4 a+0=0+a=a

(5) Not attempted

The L.C.M. of three numbers 2 p, S P and 7t
is :

() 70p°
(2 70p
(3) 65p
4 75p

(5) Not attempted

Half of a certain number is equal to 65% ¢
the second number. The ratio of the fir:
number to the second number is :

(1) 13:10
(2) 10:13
(3) .8:13
4 13:8

(5)  Not attempted
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. * a)= 6 : + B
_g:7:87m|52 If (@th): (b;;)c'is(‘fﬂ) 8 a
52. afg (a+b) : (b+¢): (c+a)= a+b+c=14, the : e
atb+c=14% Ac¥: (1) 14
(1) 14 @ ©
(2 6 @ 7
B 7 “ 8
4) 8 (5) Not attempted
(5) IR T A AR
4 i :~e of an article is = times
— 53. If the selling price O 3 i
53. afz et g o for e S A 40 71 3 T . .
. cost price, then the profit % in the transacti,
3 @ 79 O H ey wfewa € is : 7.
l 0, . l
—% o
(1 33 3 (1 33 3 Yo
2 0,
() 165‘ % 2) 16-:2;%
1, 8.
(3 205% 3) 20%%
1 [}
@ 2 2 & (4) 25%%
5 R e (5) Not attempted
54. ATEHEEH - M 10 A § F AL, B 1
- G 420 3 R 54. Acando 2 of a work in 10 days, B can do 40°3,
H140% 4T o € SafEw C
: i 1
w1 6 % v 13 fe7 9§ S AFa ¢ 1| A= H FA W of the work in 20 days and C can do 7 of th
R 1 B G FH G H X FFAE ? work in 13 days. Who can complete the whol
(1) AvmCA work in minimum time ?
(2 A (1) AandC both
3 B 2 A
@4 C B B
(5) SR TE T e (4) C
(5) Not attempted
55. A, BdHl C 7 fieR & = T
= AYIB R i ik S0.0p \I 55. A, B and C together invested ¥ 50,000 in "
AT B ¥ X 4,000 At T a1 B C | business. A invested T 4,000 more than !
¥ 5,000 Hft T, @ 2 35,000 F FoF @ d and B invested Z 5,000 more than C. Out of!
AFTUMR: total profit of ¥ 35,000, A received :
(1) 14,700 (1) 14,700
(2) T8,400 (2) 8,400
3 T11,900 (3) 11,900
(4) 13,600 (4) 13,600
(5) WA < AR (5) Notattempted =
HANTV/H2 I o1 & fore zemsr / SPACE FOR ROUGH WORK Page !



56. Choose€ the alternati've wh.ich be§t expresses | 61, .
the given sentence 11 Active Voice. Pick out the correctly spelt word.
The invitation cards will be sent today. (1)  manipeulation
(1) They will send the invitation cards (2) manipulation
today: NPT (3) menipulation
2) They will sent the invitation cards today. (4)  minipulation
(3) They will have sent the jnvitation cards (5 Inlp-
today: 5)  Not attempted
(4) They will be sending the invitation 62,
cards today. I"III in the blank with the appropriate onti
(5) Not attempted given below. Option
If you no confidence in self
s7. Findout the antonym of qbsurd” are twice defeated in life. » you
(1) refuse (1) having
) silly (2) has
(3) anxious (3) had not
(4)  sane€ (4) have
(§J\ "Not attempted (5 Not attempted
s8. Find out the correct indirect S eech of the | 03 {
rollowing sentence. p ¢ . Choose the most appropriate option to fill in
e the blank.
He said, “Do you know German ?” Many b
1) "1 asked him if he knew German. Eire e sat _——— fhe Lo
(2) He asked me to know Germarl. .
(3) He asked me if he knew German. (;) il
(‘j) He asked me if I knew German. . (2);. 00
(5) Not attempted (3) Dbesides
! s (4) along-
. Find out the part of the sentence which has (5) Not attempted
an error.
If he is a millionaire, he would help 64. Choose the alternative which best
(a) (b the meanin of th i ?S' EXpresses
il ' ) g g e 1.1nderhned idiom.
ennium Project in the future. ad to confess his crime because he was
5 (c) @ caught red handed.
d
1) Caught whi :
(2) (@) ( g while doing the crime’
@ 0 (2) Caught sleeping
@ (© (3) Caught easily
(5) Not attempted (4) Caught very late
5) Notatt
?mk out the synonym of the underli
in the followin erlined word
g sentence. 65. Choose the most appropri
T;te cellphone industry has ushered in the blank. priate alternative to fill
Fl ase of communication. - . . a new The noise comes from
2) collapsed (1) across the river.
(2) Cf)mpleted (2) e
(3) given up against
(4)  heralded (8)  besides
(5) Not attempwd (4) over
HANTV/ H2 (5) Not attempt
pted
TG FA P RIT T ————
I7e7 / SPACE FOR ROUGH WORK
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maﬂtﬁwmﬁ‘mmmﬁ%m

71.
A 37
LY ] ol S0
(2) e
@ T (@
() Eﬁqﬁ;wqmﬁ (5) I T A
(5) 3N wifo -
aﬂﬂﬂfa . ’
mﬁ,ﬁ@ﬁﬂa 7. ‘3 gEF Hiw] THAH eIl H Sd

67. FrmiEa (1) e SR 93
:;; ::; (2) 3 SR @R F gern 6
- (3) =1 HR0 BT, A HE B
a) a - (4) T\[ﬂia?ﬁ'ﬂ@’fmm
) Gkl (5) I G <A1 IRd

-y :

68. ‘ﬁﬂ@mmﬁ@ 73. fean T SH-41 faseq FHSRe &1 &l :
W%Wﬁimwﬁﬁmw ; a SR
?;E?Tﬁ (1) =R o fear -

:2)’ o (2) T T AR
o 4 (3) dE @ S

@’ 4 &I
(5) IR N TR (5) S < =Ea

69. frfafes fra o # famm fog =1 Sugea wam | 74. "3T9 fqvEre & A R § 9 ¥ Yaifng e
w e fore waifrs Svqa v
(1) BT & 3w ) (1) fovaremEt
() wfwmse AR 2) favargEH
@) T F e @) favarh
(‘;’ :i;q::;@mmwm (4) favoery.

e
5) W T I

70. 'W*mﬂzm'

w wmmﬁ?’ T |78 e v -
@) %qﬁﬂm (1) Tm+3e .

@) 18 i o (2) T+

L ot (3) U+

@) W+

(5)
W\ (5) S| =R
= ;
&f7u e/ SPACE FOR ROUGH WORK Page




76,

7.

78.

79.

80.

76 ﬁmwﬂ%-‘ﬂﬁ?ﬁ\%ﬁﬁ’ﬁ%?
(1) #‘E,ﬁﬁﬂﬁ
(2) ﬁI‘J’@ﬁga‘F*‘}?
3 fem
(4) rcife ek Ioll
(5) =77 TE 21 AR
77. gﬁawnmmuﬂ?mm%?
(1) =™
) wren ferm
(@) e
@ =
(5) <R T8 & A
78. gﬁuwnmaﬁ@nmm-ﬁumﬁm%aﬁﬁ
s ol W faEr S
(@) 2laﬁsihsaﬁafwmﬁufawm%[
b TR 1,soouﬁ1tnzwfamm%1
sqéaaﬁ@ﬁa-m/ﬁmvﬁ%/%?
1) FW(a) AR (D)
(2) 94 (a)
(3) wad(b)
(@) (2) R (b) S
(5) I A wed
79. TN 3 oy faum gw fatea &9 %2
(1) 94
(2 88
(3 90
(4) 92
(5) =L & AR
80. Th@M § ‘mem Ta ST Tifa’ Al % ot
adur 1 oy faeda Tiial @ miae faan T € ?
(1) 4,200
(2) 6,500
(3) 6,000
(4) 5,300
(5) S TRl <A1 Aed
HANTV / H2

T® 14 % 10 2aret | SPACE FOR ROUGH WORK

Where is Chinkara breeding centre locateq -
(1)  Kairu, Bhiwani

(2) Pipli, Kurukshetra -

(3) Hissar

(4)  Morni, panchkula

(5) Not attempted

The State Animal of Haryana is :

(1) Tiger

(2) Black buck’
(3) Elephant

(4) Camel

(59 Not attempted

the following statements about

Consider
nsion Scheme - @ State Scheme of

Widow Pe
the Government of Haryana.

(a) A woman of age 21 years
eligible.

(b) It carries an all
Which of the above statement/s is/are

and above is

owance of 1,800 p.m.

correct ?

(1). Neither (a) nor (b)
(20 (a)only"

(3) (b)only .
(4) Both (a) and (b)

(5) Not attempted

How many Vidhan Sabha Constituencies are
there in Haryana ?

(1) 94
2) 88
3) 90-
4) 92

-(5) Not attempted

How many villages are approximately covered
currently under the scheme ‘Mahara Gaon -
Jagmag Gaon’ in Haryana ?

(1) 4,200
(2) 6,500
(3) 6,000
(4) 5,300

(5) Not attempted
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ﬁmwm b
81, froffan 4 AR
TEHE?
(1) ey o
(2) m’"‘ﬁ
3 forw T
(4) W"mm
(5) Fw .
oy o 3 A R
Q7
(1) &R
@ e
(3) ww¥ fam
(4) =W YER
(5) W@ &N
83. froifafen & 3 ehamn =1 FH W el YT aify
YT & 1Y 91 Q0 1 & 2
(1) femn
2 T
3) fi
@) femr .
(5) W & wry

W g s
O Ty
@ .
3) iﬁa(b)
(4) (a‘)aﬁ((bjaﬁf
() W T &
o
HANTV/Hz R

81.

82‘

83.

84,

by & Ry w1 SPACE Fg

Which amongst the following is net a.

an
network system of Haryana ?

4
(1) The Indus system

(2) The Bhakra system

(3) The Lift system.

(4) The Yamuna system

(5) Not attempted

i former y
Who amongst the follow1r.1g P
members was an IAS Officer of Hary
Cadre ?

(1)  Subir Dutta
(2) P.C.Hota

(3) S.K. Mishra -
(4) Mata Prashad
(5)  Not attempted

S
an,

Which one of the following districts of Haryanp;

shares border both with Punjab ang
Rajasthan ?

(1) Sirsa
(2)  Kaithal
() Jind

(4) Hissar .
(S) - Not attempted

Consider the following Statements.
(@) Masanij barrage is in Rewari district.
(b) Kaushalya Dam is in Pinjore.

Which of the above
correct ?

Statement/s is/are
(1) Neither (a) nor (b)

(2)  (a) only

(3 (b)only

(4) Both (a) and (b) -

(5) Not attempted

R ROUGH WORK Page 16



Y T SEEN T A T SEEn & | 85, What is the approximate percentage of ryral

: total populatio
85- gy &2 population of the n of
ukl 4%’«"50/ ?7 _ . A g
1 ° \ %
:2; £ G :,2//
(3) 55% ) o
4) 50% @ 5 0/0
5) IR AR T TS (4) 50%

(5) Not attempted
ge. e e e g T R

[fE 86. Which of the following is not a dance form of
" TS Haryana ?
- ) (1) Khoria '
©). wm (2) Talghadi -
(3) Phag
g (4) Loor
(5) I TE M WA

(5) Not attempted

87. &R R TS STARTA Fel e 2 87. Where is Bir Shikargarh Wildlife Sanctuary

(1) located ?

@ R (1) Karnal

@ W= ‘ T3 (2) Kaithal”
=g % . @ Jind

::; IW TE < TRd (4) Panchkula

. , y (5) Not attempted
88. YEIF WE H -1 A faf vieH 4 St .
1-“3 < b . - .| 88. Which day of every month is celebrated as
T 8 aifrca’" & &9 H A S g ?

“Tithi Bhojan Beti Ka Janmadin School me
(1) g HTEER Abhinandan” ?

(2) & AR (1) 4% Tuesday
(3) THUHTER ' , (2) 1St Tuesday -
4) 0 HTEER : (38) 2nd Tuesday
(5) T T AR - (4) 37 Tuesday

(5) Not attempted

89. T % 1 Tl Heee Ul T W MM EFH HER' | 89, o most ortant
’ ortant monu
fora v w fega €2 The LAT and the Hy ments of the State

(1) g located at which place ;nayun Mosque’ are
(2) WdeER (1)  Naurangabad
- (3) TRETR (2) Fatehabad
(4) FEE (3) Mahendragarh -
6) IR 4)  Kurukshetra
=% (5} Not attempteq
HANTV / H2
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ﬁﬂﬁﬁ@aﬁirﬁﬂﬁ‘éﬁ3§a1
90. uHiyq 1 @ed 35
qr?
) e
@) mﬁrmaﬂiﬁ""j”
Wmmﬁ‘
(3) 3TEA] e -
@) mmﬂﬁf“i'g”
(5) maﬁéﬂaﬁ‘a
91. mﬁ%ﬁ@ﬂﬁw*ﬁqﬁ sl
R faar il
(@) agm,wﬁm%'
A L
e 8 - e /2
(1) 33 (a) IAE (D)
2) &9 (a)
(3) i (b)
@) (o) 3RO
(5) S TE & e
92. freifafaa § | FH-9 RN I IRARE YR H
feem 7@ 22
(1) I
2 v
3) EX
4) TH
(5) I H T
93. i fFw o gl o
(1) 1963
2) 1962
(3) 1966
@) 1971
6) IR
HANTV/H2

90.

91.

92.

93.

The Third Battle of Panipat tooy
petween - Pl
(1) Guru Gobind Singh and Aufang'}"‘?h
2) Nadar Shah and Aurangzeb

(3) Ahmad Shah Abdali and the Mafa,L
(4) Shah Alam and Muhammad Shah b,

(5) Not attempted

Consider the following statements in
of Motilal Nehru School of Sports. )

(a) It is situated in Rai, Sonipat.
(b Itis affiliated to CBSE.

Which of the above statement/s j
correct ?

(1) Neither (a) nor (b)

(2) (a)only

(3) (b)jonly

(4) Both (a)and (b)

(5)  Not attempted

Which amongst the following is not apa
Haryana’s traditional attire ?

(1) Chorno.
(2) Pagri

(3) Chunder
(4) Daaman

(5) Not attempted

In which year Haryana was made as?
fledged State ?

(1) 1963
(2) 1962
(3) 1966
4 1971

(5) Not attempted

T
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where Guru Gobing Sin

< iz fag 1]3]3"1 94. | : he place
o4. 3 TsFT&' el Wlémli:ﬂsqza;ﬁﬁ%'ﬁmaaa ) 2 s(::;;égyf;r esg days after the battle wity, i
Waﬂ FEUIS Kings ? .
(1) BRI e A (1) Gurudwara Lakhap Majra
2) W{[a;qm o= 2) Gurudwara Kapal Mochan \
@) TSR S e @) Gurudwara Damdams o
(@) T e (4 Dhamtana Sahi?
(5) W T & e (5) Notattem pted
95. it W A faard [ H fee wfes YA | o5, Bhainswal Kalan, falm((;‘;': if:rsigti:;i:t%;gzn::{e;
. . d to In 1 1C
i forg fora e 872 to Haryana an
district ?
(1) S ,
(1) Sonipat
@) (2) Rohtak °
@ @ (3) Karnal
) 4) Bhiwani
(5) TR AR 5) Notattempted
| frefetEa B | SA-H sy wfeen et . N
g e %ﬁ o s 5 96. Which one of the following places 18 known
fgenedt  ferd S ST & for Indian Women Hockey players ?
(@ s (1) Shahbad -
(2) TRURER (2) Faridabad
3 T (3) Gurugram
(4 TEFA (4) Panchkula
(5) TR =ed (5) Not attempted
97. %ﬁmﬁﬂﬂw (m,qg:g'hﬁ,) e fFrefarad 97. Consider the following statements about Gross
FAi T faar FIeT | State Domestic Product (GSDP).
(a) - EFEN mm@zﬁfr.m%ﬁﬁ.@@.ﬁ. (a) GSDP of Haryana is more than that of
3 AT T Karnataka.
b HERZ 1< TE. L. efgmon & <i.ga. L. () GSDP of Maharashtra is more than that
J aAfus T of Haryana.
aqgad § & FA-A/8 F @ ?/E? X};:-g:t ;f the above statement/s is/are
il (a) SAT
m AHEMINE (1) Neither (a) nor (5
@ @ r (b
s (2) (a) only
@ ®b (3) (b)only .
@) (a) I (b) T 4
= (4} Both (a) and (b
(5) S < =ed (b)
(5)  Not attempted
HANTV/H2 T @1 o feru Tt | SPACE FOR ROUGH WORK
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2
98. v ) watrm e, 20 0 A BT ey
e (- 2030)
TE-memt?
(1) amas
(2) . W
(3) Htm
(4)
(5) T TE & e

oq, 'mﬁw'wmﬁwmmm

fn & i B2

(1) ¥25,00,000
(2)  ¥51,00,000
(3)  ¥1,00,00,001
(4)  75,00,000

(5) IWE & TR

100. TS Fa= Fear gfEn 3 sl srafeerg &2

(1) ==
(2) g
(3) T
(4) foar
(5) T T 9y

*00p.

zﬁsaﬂ‘mm’fﬁm

980

99.

100. Where is Indian Institute of Manage-

HANTV/H2 '
W &y o2 | SPARE mm—

As per the India’s Envnronme nt
what is the rank of Haryarl D‘"t

achieving Sustainable Devel Stat%
(SD(‘,-QOBO) [4

nt Q'g
(]} 8”! 1‘
(3) 3!’(‘
(4) 6”]
(5) Not attempted
What is the one-time cash 4 amoun;
the “Kirti Chakra” awardee 2 Rivey

(1) ¥25,00,000

(2) T51,00,000 -
(3) X 1,00,00,001
(4) ¥75,00,000
(5) Notattempted

e
located in Haryana ?

(1)  Karnal -
(2)  Panchkula
(3) Rohtak

(4)  Bhiwani
(5)  Not attempted

-000-




